Plant Taxonomy Worksheet

1. Scientific names are used to

a. Show the chemical make-up of plants

b. Avoid confusion concerning the names of plants

c. Increase the number of names of plants

d. All of the above

2. Scientific names of plants are expressed in Latin because

a. It is a dead language

b. It is easy for all nationalities to pronounce

c. It is an international language and was used by the early scholars to express plant names

d. It is an easy language to learn

3. The name of the person who developed the binomial system for naming plants is

a. Linnaeus

b. Plato

c. Socrates

d. Hortus

4. The generic name of the plant is

a. Placed last and begins with a small letter

b. Placed first and begins with a small letter

c. Placed first and begins with a capital letter

d. Placed in the middle of the name in parentheses

5. A genus can be defined as

a. A group of plants that have more in common with each other than they have with the members of any other genus.

b. A group of plants that are all alike

c. A group of plants that have the same flower structure

d. None of the above

6. A species can be defined as

a. A group of plants that are alike in almost every feature and consistently produce like plants

b. A group of plants that have more in common with each other than with the plants of any other group

c. Plants that are all the same size

d. Plants that have the same flower color

7. Latin names of plants are italicized

a. To make them appear important

b. Because it is conventional to italicize words and phrases that are expressed in a different language

c. Because it helps to remember them

d. Because all plant names are always italicized

8. A person who identifies and classifies plants is known as a (n)

a. Taxidermist

b. Taxonomist

c. Agronomist

d. Horticulturist

9. For a plant with the scientific name of Acer rubrum cv. Red Sunset, ‘Red Sunset’ is the __________________ name.

a. Genus

b. Species

c. Family

d. Horticulturist

10. Match the correct genus with its common name

a. Geranium



1. Nicotiana

b. Tobacco



2. Papaver

c. Oak




3. Dianthus


d. Yew




4. Pelargonium

e. Poppy




5. Taxus

f. Pink




6. Quercus

g. Pine




7. Juglans

h. Walnut




8. Pinus

i. Birch




9. Betula

j. Sunflower



10. Helianthus

k. Maple




11. Acer

l. Beech




12. Fagus

11. Make a diagram of the seven units of the taxonomical hierarchy of specification.

12. What is your mnemonic device for remembering the seven units?

